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Click here for larger picture

This pattern is worked from start to finish without having to tie and cut until the end.
Finished size in No. 20 approximately 3" long.

Abbreviations

R ring SR split ring Shl shuttle 1 Sh2 shuttle 2

Cl  close RW reverse work T & Ctie and cut B bead

vsp very small picot Vlp very long picot MB move bead on core thread
MBBH move bead to back of hand before starting this ring

Materials required: size 20 thread in two contrasting colours, two shuttles and two size 10
or 11 seed beads.

Wind 234 yards on Sh1 and 134 yards on Sh2. Before starting add 2 eye beads to Sh1l.
Use Sh1 throughout - starting in the centre.

R1: 3-3Cl

SR2: 2-2/2Cl

SR3 - SR5 as SR2

SR6: 2-2/1+ (SR1)1Cl
SR7: 2-2/2Cl

SR8 - SR10 as SR7
SR11:2-2/1+ (SR2) 1 ClI
SR12:4 / 4 Cl

SR13:4 /2 + (SR3) 2 Cl
SR14:4 / 4 Cl

SR15:4 /2 + (SR4) 2 Cl
SR16:4 / 4 Cl

SR17:4 /2 + (SR5) 2 ClI
SR18:4 / 4 Cl

SR19:4 /2 + (SR6) 2 Cl
SR20:4 / 4 Cl

SR21:4 /2 + (SR7) 2 Cl
SR22:3 /3 + (SR8) 3-3Cl
SR23:6 /3 -3 Cl
SR24:6 /3 -3 Cl
SR25:4vsp2/3-3Cl

2 beads at back of hand
SR26: MBBH (2 beads) 2 + (SR25) 3 make a Vlp (1”) and include one bead in that picot.
Make 1 double. Now twist the picot clockwise about 8 times keeping the bead in the centre of
the twist. Next join back to the work 2 VIp as the last one twisting and joining picot as before
6/3Cl

SR27:6/ 3 Cl

SR28:6 / 3 + (SR25) 3 ClI

SR29:6/ 3 + (SR24) 3 ClI

SR30:6 /3 + (SR23) 3 ClI

SR31:6/ 3 + (SR22) 3 ClI

SR32:6 /3 + (SR9) 3 Cl

SR33:6/ 3 + (SR10) 3 ClI

SR34:6 /3 + (SR11) 3 ClI

SR35:6 /6 Cl

SR36:6 /6 Cl T & C leaving thread ends
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